Learning Target(s): | am able to simplify ratios, including those involving conversions.
I am able to use ratios to solve problems.
| am able to solve proportions.
| am able to calculate the geometric mean of 2 numbers.

Notes: 6.1 Ratios, Proportions, and the Geometric Mean
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Ex. 1 Simplify the ratio.
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(r} You are planning to paint a mural on a rectangular wall. You know that th@\‘qfthe wall is 484
eet and that the ratio of its length to its width i is 9:2. Find the area of the wall. #
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~ length and the width of fence needed to enclose the garden

Ex. 3 The area of a rectangular garden is 108 sq. ft., and the ratio of the Iength to the W|dth is 4:3. Find the
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Try it!

1. A triangle’s angle measures are in the extended ratio of 1:3:5. Find the measures of the angles.

2. The perimeter of a room is 48 ft and the ratio of its length to its width is 7:5. Find the length and width of
the room.
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Ex. 5 Solve the proportion.
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Ex. 6 Yoh score a 65 out of 72 on an exam, what is your score out of 100?

(Ex 7@5 part of an environmental study, you need to estimate the number of trees in a 150 acre area. You

count 270 trees in a 2 acre area and you notice that the trees seem to be evenly distributed. Estimate the total
number of trees.
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Ex. 8 Find the geometricmean of 16 and 18. Ex. 9 Find the geometric mean of 24 and 48.
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3. As part of a science project, you need to estimate the number of blue spruce trees in a 50 acre forest. You
count 36 trees in 3 acres and you notice that the trees seem to be evenly distributed. Estimate the total
number of blue spruce trees.

4. Find the geometric mean of 12 and 27. 5. Find the geometric mean of 18 and 54.



